EARAROBEEIERT — 2 N— IBISH —F

2018%6H21H (k) 5EIFIRISH

m [AIRDOX~NYwIL] B C4 Ho7%—% ‘[ﬂi}ﬁﬁ ‘[?éiﬁ%lasﬁ] - | & (&) 17000 g
[xE£] 1 %:250,000  23#%:50,000™ ~ 33#%&:38000M  43%&:25000H ~ 53#&:12,000H
B ®RB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
= e BT 152, ~4-2- . — WARRE (t#E)
N BEEERLX #o3 | BEXA 1(5_2)6 3-4-2-2 | 40.5 3 2)2 mrar 5
R:7v3iI5—L B:o50-—% BRYSG
I 1) 3 v 4| BHRA 1:53.1 -1-1-1 | 41.3| — | 2 | 494 |AIIFH (LimsE)
2 71 VL=THUIy b 56.0 @2 1/2) 6) | B 97> g
A2:Awesome Again BRI arUIv b VAN ¢
=+ . 77 _ - Sy
N - BEER2 LIS o s fo4 | ZREA 1.(55.0 7-7-7-6 | 41.4 5 z:gg; ;2;%; (leiis)
L:T7v3I7—L B:TI7o%— =iE R
N PN 4 | AllE :55. -0-3- . - KINF (timE)
sl 6| NYTHET Y- i 54.0 1(545)9 zess w7 ¢ ‘25)2 (B) ﬁ—i‘ﬁ/\’—719v K
LT v MRy b B LRy yva H—NZ—9 X2 F
S pn . RETE :55. ~6-6- . — BAREE (tiEE
50111 RIAFLAYRY # 9 s = 1(7555? 6-6-6-7 | 42.7 7 (45;; =it 3
L:F—TIRNTPN—h B:SvIF7y b SH FHi
—_— f 4 | ETESH 1:56.1 3-2-4-5 |43.7| — 1 436 | 1EFIBR (dtimE)
618l8 A3XT7T/—F 1 54.0 ) -2) 1?;%5&5)1 .
R:T74HO BHLEE—FH—I USRS e
.= N ZERY : -8-8- - AARBE (tEE)
7 =LA H 6 S 1.(587>.8 7-8-8-8 | 42.6 8 (4_822) kﬁg% (AtiE
LIAVTELTe BIRAA/ANRD v R BEX
N AAF A ; ~5-5— — nE— (AtiEsE)
8l5|5 | EBIVEILY s 54.0 1'(518)'0 R R o <4+726) IEEE‘;%& "
Z:70F—v B:ta1vR—/— =AW
@ 1 — S —EBIEf
13—F— 7,6,(2,8),5,1,(3,4)
2a=7r= 7,(6,8),2,5,1,3,4
== 7,2,6,8,5,1,3,4
41—F— 7,2,(5,6),8,3,1,4
[ 7N
-y 2 440 74K 2-7 360 B = 2-7 990M & 2-3-7 1,460
7 B 2 130M 2-3 440 B H 2=/ 2,200 e 2-7-3 11,050
7 120M 3-7 530
3 130M

ABICOVWTRDTEEERROODE. TR LIV,




